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Ritp:/ffarbe i tu-berlin.de/ CEBO/CEBOLONA. TXT /.PS; start oltput
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log (*) LABJNDuO standard lightnessl*

* Yoc=Yw  nc=100,

I* L aganDuo=IN(A 10+A2 )/ (A2iAon)  (X=YIYy)
I \(3,6)=146/* ,(18)=332,* ,y(90)=517

Iog[l* /I* J=0, m;=0,33
* =49, I* ;=332

I* =517,21, Ay=1,5 Agu 0,1044, =1,00
I* 1g=332,22, A=0/A7, A,=0,0058
I*3,6=146,11 =37 ;22\4J 181
L] =1
win=02 'xy=5

LABJINDuO
tristimulus value difference
YoemYw  nc=100,

I*LABINDUO=IN(A 17+ A2) /(A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aon 065715, A a=1.0, See CIE 2302019
I* =332, dY,=0,18 dY,/Y,=0,0101 %
log(dY)=0,18 m,=0,85 oA
dYoc=0,80, Ay1,5, Arr ,1044] ¢=1,

d¥3,6=0,05 Y,=18, dY=0,18

1
xN=0,2 Xw=5

log AY/Y) LABJINDUO
_ tristimulus value sensitivity
S=@vr) YotV nc=100

I*LABINDuO=IN(A 17+ A2) /(A2 Aon) - (X=YTYy)
AYIY=Aor(A 1+ AoV )Y=Agr (A it AgX)/Y

(dY/Yy=0,2089, Ay=1,5, Ay 70,1044, ¢=1,00
(dY/Y)g=0,0101, A=0,017, A,=0,0058
(dY/Y} 60,0157 ~=18, dY=0,18

log(dY/Y)yE-1 99 m,f

NS

I
=1
xN=0,2 Xw=5

LABJINDuO
tristimulus value contrast

C=(YIRY) Yo=Yw - nc=100

L aganDuo=IN(A 10+ A2X)/(AgyAon) - (X=Y1Yy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

(Y/dYy=111,31, Ay=1,5, A =0,1044, ¢=1,00
(Y/dY)=98,84, A=0,017, 4,=0,0058
(Y/dY} 63,35 Y,=18 dY=0,18

I* =332 dY,=0,18 Y,/dY,=98

f range
%=1
w=5

I* L ABINDUO=IN(A 10+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)

application
range

log (*/I* ) LABJNDuUO relative standard lightnessl*/I* ,

=Y, =100,
[/ nc "W ne’

1 LaBaNDuO =IN(A 10t AR Y)(A2nAon)  (Ynd/100<Y<=Y,()
I* | ABaNDUO =IN(A 10 +A2X)/ (A2iA0n)  (X=Y1Yy)
1 (3,6)=146* ,(18)=332 1% y(90)=517
¥ gyl =1,55, Ay=1,5, Ap=0,1044, ¢=1,00
I 1g/1* =1,00, A;=0.017, A,=0,0058
I¥3,d1*=0,43,%,7332,22 Y=18
log[i*/I* J=0, m,=0,33
L* =49, I* ;=332

I* LABINDUO=IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)

dY;g=0,18. A =", 27, A =0 0058 appllcauon

log(AY/AY,) LABJINDUO relative

tristimulus value difference
AYIAY, Vs v,
11 ABINDUO=IN(A 17 A2 Y)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUO=IN(A 10 +A2X)/(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYgo/dY,=4,43, Ay=1,5, Ay, =0,1044, ¢=1,00
dY,g/dY,=1,00, A,=0,017, /,=0,0058
dY;,ddY,=0,31 Y,=18, d\=0,18 ;
py
18 dY,/Y,=0,0101

1* L ABINDUO=IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)

B .=~ application
18 dY,/Y,=0, 0101| faqﬂ

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDUO relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDUO=IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUO=IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y}o(dY N=0,88, Ay=1,5, Ay, =0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=1.00, A=0,017, £5,~0,0058
@YYy g(dY/YV)=1,24 Y, =18, dY=0,18

EES

log[(dY/Y)(dY/Y) =0, m=-0,13 1 .

I* =332, d¥,=0,18 dY,/Y,=0,0101 ?g’npg','ga""”
%=1

1*LABINDUO=IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yyo)

application

XN=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDUO relative

tistimulus value contrast
CrlCru=(YIAV(YIAY), o e ¥ o3 0
11 ABINDUO=IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUO=IN(A 10 +A2)/(A2uAon)  (X=YTYL)
(YIYY(YIY) =X (At AN (A 15+A2y)
(YA po/(YIAY}=1,12, Ay=1,5, Ay =0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1.00, A,=0,017, A4,=0,0058
(Y/dY}, g(Y/dY)=0,64 Y,=18, dY=0,18
log[(Y/dYY(Y/dY),]=0, m,=0,13
=332 dY,=0,18 Y,/dY-~ 76~

/ 1 application
1 range

Iy =1
il
XN=0,2 Xw=5

log (L*) LABJNDuO standard lightnessL*

L* YoemLl*w el
L*Laganpuo=IN(A1n+A2nY)/(A2rA0n)  (Yac/L00<Y<=Y,c)

L* 1 ABaNDu0=IN(A 10+ A2 X) (Ao Aon) - (X=Y/Y)
L* N(3,6)=146L* ,(18)=332,L*,,(90)=517

* =49,L* =332
v ]
L*gg=517,21, AL F /Sgu_o 1044, ¢=1,00
L*15=332,22, A=0 417, A,=0,8058
L*36=146,11L%,=F 222\(1 181

[ 1 =1

application
range

=02 Txy=5

CEBO1-1A
logAY) LABJINDuUO

AY trislimulus vaILLe difference
Y=L w nc=100,
L*Laganpuo=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L*Laganpuo=IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpe=15, Apn 4=1,0, see CIE 230:2019
5 4

/
L* =332 dY,=0,1§ dY,/Y,=0, 0101 7
log(dY)=0,18 m,=0,85
dYeg=0,80, Ay,=1,5, A~ 41044 &1,
dY;g=0,18, A-=2,2a 7, AZn 0 0058 apphcauon
dY36=0,05 =18 dY=0,18

XN=0,2 Xw=5

CEB01-3A
log (AY/Y) LABJINDUO

tristimulus value sensitivi
S=@YHY) Yo=*w - :nc=100. 4

nc’

L*Laganpuo=IN(A1n+A2nY)/(A2nA0n) - (Yac/100<Y<=Y,o)

L*Laganpuo=IN(A1nt A2 X)/(A2iAon)  (X=YTYy)

AYIY=Por(A it AgaY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0089, A=1,5, Ay =0,1044, ¢=1,00
(dY/Y)g=0,010, A=0,017, A4,=0,0058
(dY/Y},=0,0157 ~=18 dY=0,18

log(dY/Y)=-1,99 m,=-0,1u3 ~ = -2 plication

= 0e
I

I=1

XN=0,2 Xw=5

CEBO1-5A
log (Y/AY) LABJINDuO

- tristimulus value contrast
C=(YIAY) M s
L*LaganDuo=IN(A 1+ A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpuo=IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

(YIdY}o=111,31, Ay=1,5, Ay =0,1044, ¢=1,00
(Y/dY)g=98,84, A =0,017, /4=0,0058
(Y/dY}, =63,35 Y,~18, dY=0,18

L* =332, dY,=0,18 Y,/dY,=98

log(Y/dY)1,99 m,=0,13 - = = ~
S application
1 range

=1

Pw=5

CEBO1-7A
CEBO1-7N

log (L*/L* ;) LABJINDuO relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* LaBINDu0=IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
L* aaNDuo=IN(A1rtA2X)/(AoAgn)  (X=Y/Yy)
L* (3,6)=146L* ,(18)=332,L* (90)=517
L*gy/L* =155, Ay=1,5, Ay =0,1044, ¢=1,00
L*1g/L* =1.00, A,=0,017, A4,~0,0058
L*3dL*,=0,43,L*=332,22 Y=18
log[L*/L* =0, m,=0,33
L* =49, L* =332

CEBO1-2A
log(AY/AY,) LABJINDUO relative

tristimulus value difference

AYIAY, Ve irl
L*LaganDuo=IN(A1n+A2 ) (A2rAon) - (Yad 100<Y<=Yyo)
L1 aganDuo=IN(A 1ntA20)/(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

dYgo/dY,=4,43, Ayy=1,5, Ay =0,1044, ¢=1,00

dY,9dY,=1,00, A;y=0,017, A,=0,0058

dY;,¢dY,=0,31 Y,=18, d\=0,18 7

y

18 dY, /Y, 00101 /
application
nge

=1

CEBOL-4A
log [(AY/Y) | (AYIY),] LABJINDUO relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
L*LaganDuo=IN(A1n+A2 ) (A2rAon) - (Yad100<Y<=Yyo)
L* L aganDuo=IN(A 1ntA20X)(A2pAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y)=0,88, Ay=1,5, Ay, =0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=1.00, A=0,017, £5,~0,0058
@YYy g(dY/YV)=1,28 Y, =18, dY=0,18

log[(dY/YY(dY/Y),]=0, m;=-0,13 il
L* =332, dY,=0,18 dY,/Y,=0,0101
Ix,=1

XNn=0,2 Xw=5

CEBO1-6A
log [(Y/AY) I (YIAY),] LABJINDUO relative

/Gy =(YIAYY(YIAY), t\|(st|n|‘_n*1|us value contrast

nc™

L*LaganDuo=IN(A1n+A2 ) (A2rAon) - (Yad100<Y<=Yyo)
L aganpuo=IN(A 1ntA20X) (A2uAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAYhg/(Y/dY)=1,12, Ay=1,5, Ay=0,1044, G=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,=0,0058
(Y/dY} ¢(Y/dY)=0,64 Y, =18, dY0,18

log[(Y/dY)(Y/dY),]=0, m=0,13

CEBO1-8A

TUB-test chart CEBO; LABINDuYQ*(Y) & L*(Y), Yn=(Y&L*) wne ox=1,00, with more data
Absolute and relative lightness, sensitivity and contragt=A5, A1n=0,017, A,=0,0058, A,=0,10
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